2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Charter #1

		Grades 03-10		Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	81	81									
Math Denominator	81	81									
Math Percent	100.0%	100.0%	100.0%						100.0	0.5	50
Eng/Language Arts Numerator	81	81									
Eng/Language Arts Denominator	81	81									
Eng/Language Arts Percent	100.0%	100.0%	100.0%						100.0	0.5	50
							Total F	Performan	ce Points:	1	100
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	6250	1900									
Math Number of Students	60	19									
Math Average Points	104.2	100.0	102.1					0.0	102.1	0.5	51.042
Eng/Language Arts Total Points	6350	1900									
Eng/Language Arts # Students	60	19									
Eng/Language Arts Avg Points	105.8	100.0	102.9					0.0	102.9	0.5	51.458
			•				т	otal Grow	th Points:	1	102.5
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				78		66					
CCR Denominator				79		70					
CCR Percent				98.7%	98.7%	94.3%		100.0	98.7	0.5	49.367
Number of Graduates						70	5-yr: 100%				
Number of Cohort Students						70	4-yr: 100%				
Graduation Percent						100.0%	0	100.0	100.0	0.5	50
							Total Multi	ple Measu	re Points:	1	99.367
Overall		0.0.5									
- "	Gr 3-8	Gr 9-12							Df		Grade
Enrollment Count	0.007	328							Performa		A
Enrollment Ratio	0.0%	100.0%						₽ <i>4</i> 1±:		wth: 102.5 ires: 99.367	Α .
								iviuiti			
									Overa	all: 100	Α

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Charter #4

	Grades 03-10			Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	33	33									
Math Denominator	33	33									
Math Percent	100.0%	100.0%	100.0%						100.0	0.5	50
Eng/Language Arts Numerator	25	33									
Eng/Language Arts Denominator	33	33									
Eng/Language Arts Percent	75.8%	100.0%	75.8%						75.8	0.5	37.879
							Total I	Performan	ce Points:	1	87.879
Growth		- · · · · · · · · · · · · · · · · · · ·									
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	2700	675				0					
Math Number of Students	27	6				0					
Math Average Points	100.0	112.5	106.3					0.0	106.3	0.5	53.125
Eng/Language Arts Total Points	2400	375				3					
Eng/Language Arts # Students	27	6				3					
Eng/Language Arts Avg Points	88.9	62.5	75.7			100.0%		100.0	71.4	0.5	35.693
							1	otal Grow	th Points:	1	88.818
Multiple Measure	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				40		27					
CCR Denominator				41		27					
CCR Percent				97.6%	97.6%	100.0%		100.0	97.6	0.5	48.78
Number of Graduates						27	5-yr: 94.7%				
Number of Cohort Students						30	4-yr: 78.9%				
Graduation Percent						90.0%	15.8	100.0	100.0	0.5	50
							Total Multi	ple Measu	re Points:	1	98.78
Overall	Gr 3-8	Gr 9-12								Dates	Cuc di
F	Gr 3-8	Gr 9-12 218							Performa		Grade
Enrollment Count Enrollment Ratio	0.0%	100.0%								nce: 87.879 wth: 88.818	
Enrollment Ratio	0.076	100.0/0						Multi	ple Measu	-	A
									Overa	_	Α

Overall 3.5 B

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Charter #5

		Grades 03-10		Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	207	310									
Math Denominator	294	310									
Math Percent	70.4%	100.0%	70.4%						70.4	0.5	35.204
Eng/Language Arts Numerator	191	310									
Eng/Language Arts Denominator	294	310									
Eng/Language Arts Percent	65.0%	100.0%	65.0%						65.0	0.5	32.483
							Total F	Performar	ce Points:	1	67.687
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	13025	3375									
Math Number of Students	156	52									
Math Average Points	83.5	64.9	74.2					0.0	74.2	0.5	37.099
Eng/Language Arts Total Points	12200	3275									
Eng/Language Arts # Students	156	52									
Eng/Language Arts Avg Points	78.2	63.0	70.6					0.0	70.6	0.5	35.296
					•			otal Grow	rth Points:	1	72.396
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent				#DIV/0!	#DIV/0!	#DIV/0!			#DIV/0!	0.5	######
Number of Graduates							5-yr: %				
Number of Cohort Students						#P# //21	4-yr:%		0.0	0.5	
Graduation Percent						#DIV/0!	0 Total Multi	nie Mass	0.0	0.5 1	0 ######
Overall							TOTAL IVIUITI	pie ivieasi	ire roilits.	•	******
C.S. 311	Gr 3-8	Gr 9-12								Points	Grade
Enrollment Count	326								Performa	nce: 67.687	
Enrollment Ratio	100.0%	0.0%								vth: 72.396	
		1						Mult	ple Measu	-	
									Overa	all: 70	С
									Overall		

Overall 2.25 C

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Charter #2

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	153	234									
Math Denominator	274	234									
Math Percent	55.8%	100.0%	55.8%						55.8	0.5	27.92
Eng/Language Arts Numerator	194	235									
Eng/Language Arts Denominator	276	235									
Eng/Language Arts Percent	70.3%	100.0%	70.3%						70.3	0.5	35.145
							Total I	Performan	ce Points:	1	63.065
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	9900	2575				3					
Math Number of Students	128	44				9					
Math Average Points	77.3	58.5	67.9			33.3%		33.3	66.2	0.5	33.106
Eng/Language Arts Total Points	11725	2700				5					
Eng/Language Arts # Students	130	45				5					
Eng/Language Arts Avg Points	90.2	60.0	75.1			100.0%		100.0	73.7	0.5	36.838
								otal Grow	th Points:	1	69.945
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				35		23					
CCR Denominator				36		29					
CCR Percent				97.2%	97.2%	79.3%		100.0	97.2	0.5	48.611
Number of Graduates						29	5-yr: 100%				
Number of Cohort Students						31	4-yr: 100%				
Graduation Percent						93.5%	0	100.0	100.0	0.5	50
							Total Multi	ple Measu	re Points:	1	98.611
Overall											
	Gr 3-8	Gr 9-12							_		Grade
Enrollment Count	240	151								nce: 63.065	_
Enrollment Ratio	61.4%	38.6%								vth: 69.945	
								Multi		res: 98.611	1
									Overall		

Overall 1.74 D Gr 3-8 1.5 D Gr 9-12 2.13 C

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Charter #3

	Grades 03-10			Grade 2	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	65	114									
Math Denominator	101	114									
Math Percent	64.4%	100.0%	64.4%						64.4	0.5	32.178
Eng/Language Arts Numerator	79	111									
Eng/Language Arts Denominator	100	111									
Eng/Language Arts Percent	79.0%	100.0%	79.0%						79.0	0.5	39.5
							Total I	Performan	ice Points:	1	71.678
Growth		- · · · · · · · · · · · · · · · · · · ·									
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	3150	400									
Math Number of Students	42	14									
Math Average Points	75.0	28.6	51.8					0.0	51.8	0.5	25.893
Eng/Language Arts Total Points	3250	950									
Eng/Language Arts # Students	42	14									
Eng/Language Arts Avg Points	77.4	67.9	72.6					0.0	72.6	0.5	36.31
								otal Grow	th Points:	1	62.202
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent				#DIV/0!	#DIV/0!	#DIV/0!			#DIV/0!	0.5	######
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr:%				
Graduation Percent						#DIV/0!	0		0.0	0.5	0
0							Total Multi	pie Measi	ıre Points:	1	######
Overall	Gr 3-8	Gr 9-12								Points	Grade
Enrollment Count	109	G. J-12							Performan	roints rce: 71.678	
Enrollment Ratio	100.0%	0.0%								th: 62.202	
LIII OIIIII EIIT KALIO	100.070	0.070						Multi	iple Measu		
									Overa	_	D
									Overall		

Overall 0.75 F

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Combined School #1

		Grades 03-10		Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	564	406									
Math Denominator	626	406									
Math Percent	90.1%	100.0%	90.1%						90.1	0.5	45.04
Eng/Language Arts Numerator	538	405									
Eng/Language Arts Denominator	625	405									
Eng/Language Arts Percent	86.1%	100.0%	86.1%						86.1	0.5	43.04
•			-				Total F	erforman	ce Points:	1	88.088
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	21400	5800				11					
Math Number of Students	290	97				14					
Math Average Points	73.8	59.8	66.8			78.6%		78.6	67.2	0.5	33.602
Eng/Language Arts Total Points	24350	7175				21					
Eng/Language Arts # Students	286	99				22					
Eng/Language Arts Avg Points	85.1	72.5	78.8			95.5%		95.5	75.8	0.5	37.922
							Т	otal Grow	th Points:	1	71.525
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				230		81					
CCR Denominator				233		212					
CCR Percent				98.7%	98.7%	38.2%		100.0	98.7	0.5	49.356
Number of Graduates						212	5-yr: 95.5%				
Number of Cohort Students						223	4-yr: 95.5%				
Graduation Percent						95.1%	0	100.0	100.0	0.5	50
							Total Multi	ple Measu	ıre Points:	1	99.356
Overall											
	Gr 3-8	Gr 9-12									Grade
Enrollment Count	409	885							Performa	nce: 88.088	В
Enrollment Ratio	31.6%	68.4%								wth: 71.525	+
								Multi		res: 99.356	+
									Overa	all: 89	В

Overall 3.69 A Gr 7-8 3 B Gr 9-12 4 A

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Combined School #2

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	130	115									
Math Denominator	150	115									
Math Percent	86.7%	100.0%	86.7%						86.7	0.5	43.333
Eng/Language Arts Numerator	111	115									
Eng/Language Arts Denominator	150	115									
Eng/Language Arts Percent	74.0%	100.0%	74.0%						74.0	0.5	37
•							Total I	erforman	ce Points:	1	80.333
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	7875	2500				0					
Math Number of Students	78	26				1					
Math Average Points	101.0	96.2	98.6			0.0%		0.0	97.6	0.5	48.81
Eng/Language Arts Total Points	7325	1800				3					
Eng/Language Arts # Students	75	28				4					
Eng/Language Arts Avg Points	97.7	64.3	81.0			75.0%		75.0	78.8	0.5	39.423
							T	otal Grow	rth Points:	1	88.233
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				27		27					
CCR Denominator				28		28					
CCR Percent				96.4%	96.4%	96.4%		100.0	96.4	0.5	48.214
Number of Graduates						28	5-yr: 80%				
Number of Cohort Students						35	4-yr: 80%				
Graduation Percent						80.0%	0	80.0	80.0	0.5	40
							Total Multi	ple Measu	re Points:	1	88.214
Overall											
	Gr 3-8	Gr 9-12									Grade
Enrollment Count	124	149							Performa	nce: 80.333	В
Enrollment Ratio	45.4%	54.6%								vth: 88.233	4
		_						Multi	ple Measu	res: 88.214	В
									Overa	all: 85	В

Overall 3.47 B Gr 7-8 5 A Gr 9-12 2.2 C

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Combined School #3

		Grades 03-10		Grade 1	.1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	133	128									
Math Denominator	173	128									
Math Percent	76.9%	100.0%	76.9%						76.9	0.5	38.439
Eng/Language Arts Numerator	121	127									
Eng/Language Arts Denominator	172	127									
Eng/Language Arts Percent	70.3%	100.0%	70.3%						70.3	0.5	35.174
							Total F	erforman	ce Points:	1	73.61
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	6000	1825				1					
Math Number of Students	85	32				4					
Math Average Points	70.6	57.0	63.8			25.0%		25.0	62.5	0.5	31.263
Eng/Language Arts Total Points	6875	1175				7					
Eng/Language Arts # Students	87	30				7					
Eng/Language Arts Avg Points	79.0	39.2	59.1			100.0%		100.0	57.1	0.5	28.557
							т	otal Grow	rth Points:	1	59.82
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				54		7					
CCR Denominator				55		47					
CCR Percent				98.2%	98.2%	14.9%		59.6	58.5	0.5	29.246
Number of Graduates						47	5-yr: 85.4%				
Number of Cohort Students						60	4-yr: 85.4%				
Graduation Percent						78.3%	0	78.3	78.3	0.5	39.167
							Total Multi	ole Measu	re Points:	1	68.412
Overall		1									
	Gr 3-8	Gr 9-12									Grade
Enrollment Count	134	208								nce: 73.614	+
Enrollment Ratio	39.2%	60.8%							Grov		+
								Multi		res: 68.412	+
I									Overa	all: 68	D

Overall 1.78 D Gr 7-8 1 D Gr 9-12 2.28 C

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Combined School #4

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	65	46									
Math Denominator	92	46									
Math Percent	70.7%	100.0%	70.7%						70.7	0.5	35.326
Eng/Language Arts Numerator	63	46									
Eng/Language Arts Denominator	92	46									
Eng/Language Arts Percent	68.5%	100.0%	68.5%						68.5	0.5	34.239
							Total P	erforman	ce Points:	1	69.565
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	2000	275				1					
Math Number of Students	35	11				2					
Math Average Points	57.1	25.0	41.1			50.0%		50.0	41.4	0.5	20.722
Eng/Language Arts Total Points	2175	325				1					
Eng/Language Arts # Students	34	12				4					
Eng/Language Arts Avg Points	64.0	27.1	45.5			25.0%		25.0	43.8	0.5	21.902
							Т	otal Grow	rth Points:	1	42.624
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				34		18					
CCR Denominator				35		31					
CCR Percent				97.1%	97.1%	58.1%		100.0	97.1	0.5	48.571
Number of Graduates						31	5-yr: 90.5%				
Number of Cohort Students						36	4-yr: 88.1%				
Graduation Percent						86.1%	2.4	88.5	88.5	0.5	44.256
							Total Multip	ole Measu	ıre Points:	1	92.827
Overall											
	Gr 3-8	Gr 9-12									Grade
Enrollment Count	50	171							Performa	nce: 69.565	D
Enrollment Ratio	22.6%	77.4%							Grov	vth: 42.624	F
								Multi		res: 92.827	
									Overa	ill: 75	C

Overall 2.27 C Gr 7-8 0.25 F Gr 9-12 2.85 C

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Combined School #5

		Grades 03-10		Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	50	126									
Math Denominator	169	126									
Math Percent	29.6%	100.0%	29.6%						29.6	0.5	14.793
Eng/Language Arts Numerator	50	125									
Eng/Language Arts Denominator	168	125									
Eng/Language Arts Percent	29.8%	100.0%	29.8%						29.8	0.5	14.881
							Total F	erforman	ce Points:	1	29.674
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	1450	350				16					
Math Number of Students	58	20				26					
Math Average Points	25.0	17.5	21.3			61.5%		61.5	31.3	0.5	15.661
Eng/Language Arts Total Points	3475	1150				22					
Eng/Language Arts # Students	54	18				35					
Eng/Language Arts Avg Points	64.4	63.9	64.1			62.9%		62.9	51.0	0.5	25.498
							Т	otal Grow	th Points:	1	41.16
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				94		1					
CCR Denominator				95		64					
CCR Percent				98.9%	98.9%	1.6%		6.3	6.2	0.5	3.0921
Number of Graduates						64	5-yr: 54.7%				
Number of Cohort Students						155	4-yr: 50.8%				
Graduation Percent						41.3%	3.9	45.2	45.2	0.5	22.595
							Total Multi	ole Measu	re Points:	1	25.687
Overall		1									
	Gr 3-8	Gr 9-12								-	Grade
Enrollment Count	132	437							Performa	+	!
Enrollment Ratio	23.2%	76.8%								vth: 41.16	
								Multi		res: 25.687	
									Overall	all: 30	F

Overall 0.22 F Gr 7-8 0.5 F Gr 9-12 0.13 F

		Grades 03-10		Grade :	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	241	259									
Math Denominator	259	259									
Math Percent	93.1%	100.0%	93.1%						93.1	0.5	46.525
Eng/Language Arts Numerator	231	261									
Eng/Language Arts Denominator	258	261									
Eng/Language Arts Percent	89.5%	100.0%	89.5%						89.5	0.5	44.767
							Tot	al Performar	ice Points:	1	91.293
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	10450	3600									
Math Number of Students	121	41									
Math Average Points	86.4	87.8	87.1					0.0	87.1	0.5	43.542
Eng/Language Arts Total Points	9950	3175									
Eng/Language Arts # Students	117	43									
Eng/Language Arts Avg Points	85.0	73.8	79.4					0.0	79.4	0.5	39.72
			-					Total Grow	th Points:	1	83.262
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%			100.0	0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mu	ıltiple Meası	re Points:	1	0
Overall		1 1									
	Gr 3-8	Gr 9-12									Grade
Enrollment Count	263	0.554								nce: 91.293	
Enrollment Ratio	100.0%	0.0%						NAL-I+	Grov iple Measu	vth: 83.262 res: 0	В
								iviuit	ipie ivieasu	162. U	1

		Grades 03-10		Grade 1	l1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	200	257									
Math Denominator	244	257									
Math Percent	82.0%	100.0%	82.0%						82.0	0.5	40.984
Eng/Language Arts Numerator	191	257									
Eng/Language Arts Denominator	244	257									
Eng/Language Arts Percent	78.3%	100.0%	78.3%						78.3	0.5	39.139
							Tot	al Performar	nce Points:	1	80.123
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	13475	3100									
Math Number of Students	129	43									
Math Average Points	104.5	72.1	88.3					0.0	88.3	0.5	44.138
Eng/Language Arts Total Points	11850	2725									
Eng/Language Arts # Students	128	43									
Eng/Language Arts Avg Points	92.6	63.4	78.0					0.0	78.0	0.5	38.988
						1		Total Grov	vth Points:	1	83.125
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%				0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mi	ultiple Measu	ure Points:	1	0
Overall		0.0.5									
	Gr 3-8	Gr 9-12							5. (Grade
Enrollment Count	263	0.554								nce: 80.123	1
Enrollment Ratio	100.0%	0.0%								vth: 83.125	В
								Mult	iple Measu		<u> </u>
									Overa	all: 81	В

Math Numerator Math Denominator Math Percent Eng/Language Arts Numerator Eng/Language Arts Denominator Eng/Language Arts Percent Growth Math Total Points Math Number of Students	Pass Rate 630 758 83.1% 567 759 74.7% Top 75% Observed Growth 44175	Participation Rate 810 811 99.9% 810 811 99.9% Bottom 25% Observed Growth Points	Points 83.1% 74.7%						Points 83.1	Weight	Final Points
Math Numerator Math Denominator Math Percent Eng/Language Arts Numerator Eng/Language Arts Percent Growth Math Total Points Math Number of Students	630 758 83.1% 567 759 74.7% Top 75% Observed Growth	810 811 99.9% 810 811 99.9% Bottom 25% Observed	83.1%						83.1	0.5	Points
Math Denominator Math Percent Eng/Language Arts Numerator Eng/Language Arts Denominator Eng/Language Arts Percent Growth Math Total Points Math Number of Students	758 83.1% 567 759 74.7% Top 75% Observed Growth	811 99.9% 810 811 99.9% Bottom 25% Observed	74.7%								41.55
Math Percent Eng/Language Arts Numerator Eng/Language Arts Denominator Eng/Language Arts Percent Growth Math Total Points Math Number of Students	83.1% 567 759 74.7% Top 75% Observed Growth	99.9% 810 811 99.9% Bottom 25% Observed	74.7%								41.55
Eng/Language Arts Numerator Eng/Language Arts Denominator Eng/Language Arts Percent Growth Math Total Points Math Number of Students	759 74.7% Top 75% Observed Growth	810 811 99.9% Bottom 25% Observed	74.7%								41.55
Eng/Language Arts Denominator Eng/Language Arts Percent Growth Math Total Points Math Number of Students	759 74.7% Top 75% Observed Growth	811 99.9% Bottom 25% Observed							747		
Growth Math Total Points Math Number of Students	74.7% Top 75% Observed Growth	99.9% Bottom 25% Observed							747		
Math Total Points Math Number of Students	Top 75% Observed Growth	Bottom 25% Observed							747		
Math Total Points Math Number of Students	Observed Growth	Observed							74.7	0.5	37.352
Math Total Points Math Number of Students	Observed Growth	Observed	D				Tota	l Performan	ce Points:	1	78.90
Math Number of Students	44175		Points			Improvemen	ı	Points	Points	Weight	Final Points
 		12850									
	512	174									
Math Average Points	86.3	73.9	80.1					0.0	80.1	0.5	40.032
Eng/Language Arts Total Points	43475	9950									
Eng/Language Arts # Students	514	173									
Eng/Language Arts Avg Points	84.6	57.5	71.0					0.0	71.0	0.5	35.524
								Total Grow	th Points:	1	75.557
Multiple Measure											
P	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%				0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mu	ltiple Measu	re Points:	1	0
Overall											
	Gr 3-8	Gr 9-12								Points	Grade
Enrollment Count	852								Performar	nce: 78.909	С
Enrollment Ratio	100.0%	0.0%								vth: 75.557	С
<u> </u>								Multi	ple Measu	res: 0	1

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	162	255									
Math Denominator	223	257									
Math Percent	72.6%	99.2%	72.6%						72.6	0.5	36.323
Eng/Language Arts Numerator	177	255									
Eng/Language Arts Denominator	223	257									
Eng/Language Arts Percent	79.4%	99.2%	79.4%						79.4	0.5	39.686
							Tot	al Performar	nce Points:	1	76.009
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	6400	1775									
Math Number of Students	76	27									
Math Average Points	84.2	65.7	75.0					0.0	75.0	0.5	37.488
Eng/Language Arts Total Points	6000	1875									
Eng/Language Arts # Students	77	26									
Eng/Language Arts Avg Points	77.9	72.1	75.0					0.0	75.0	0.5	37.509
								Total Grov	vth Points:	1	74.997
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%				0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mi	ultiple Measu	ıre Points:	1	0
Overall		0.0.5									
	Gr 3-8	Gr 9-12							5. (Grade
Enrollment Count	276	0.00/								rce: 76.009	
Enrollment Ratio	100.0%	0.0%						NAI+	Grow iple Measui	vth: 74.997 res: 0	С
								iviuit	Overa		С

		Grades 03-10		Grade :	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Fina Point
Math Numerator	114	256									
Math Denominator	197	256									
Math Percent	57.9%	100.0%	57.9%						57.9	0.5	28.93
Eng/Language Arts Numerator	106	254									
Eng/Language Arts Denominator	195	254									
Eng/Language Arts Percent	54.4%	100.0%	54.4%						54.4	0.5	27.17
•			-				Tot	al Performar	nce Points:	1	56.11
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	5175	1525									
Math Number of Students	80	27									
Math Average Points	64.7	56.5	60.6					0.0	60.6	0.5	30.292
Eng/Language Arts Total Points	5975	1425									
Eng/Language Arts # Students	77	27									
Eng/Language Arts Avg Points	77.6	52.8	65.2					0.0	65.2	0.5	32.59
•	3					-		Total Grov	vth Points:	1	62.88
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%				0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mu	ultiple Measu	ure Points:	1	0
Overall											
	Gr 3-8	Gr 9-12									Grade
Enrollment Count	282								Performa	nce: 56.113	F
Enrollment Ratio	100.0%	0.0%							Grov iple Measu	wth: 62.886	D

		Grades 03-10		Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	450	458									
Math Denominator	458	458									
Math Percent	98.3%	100.0%	98.3%						98.3	0.5	49.127
Eng/Language Arts Numerator	439	458									
Eng/Language Arts Denominator	458	458									
Eng/Language Arts Percent	95.9%	100.0%	95.9%						95.9	0.5	47.926
•							Total P	erforman	ce Points:	1	97.052
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	31600	10700				4					
Math Number of Students	321	107				5					
Math Average Points	98.4	100.0	99.2			80.0%		80.0	99.0	0.5	49.5
Eng/Language Arts Total Points	31250	10650				19					
Eng/Language Arts # Students	321	108				22					
Eng/Language Arts Avg Points	97.4	98.6	98.0			86.4%		86.4	94.4	0.5	47.186
							т	otal Grow	th Points:	1	96.686
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				430		320					
CCR Denominator				435		446					
CCR Percent				98.9%	98.9%	71.7%		100.0	98.9	0.5	49.425
Number of Graduates						446	5-yr: 98.9%				
Number of Cohort Students						459	4-yr: 97.3%				
Graduation Percent						97.2%	1.6	100.0	100.0	0.5	50
							Total Multip	ole Measu	re Points:	1	99.425
Overall											
	Gr 3-8	Gr 9-12									Grade
Enrollment Count		1809							Performa		
Enrollment Ratio	0.0%	100.0%								vth: 96.686	_
								Multi		res: 99.425	
									Overa	all: 98	Α

		Grades 03-10		Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	123	134									
Math Denominator	134	134									
Math Percent	91.8%	100.0%	91.8%						91.8	0.5	45.896
Eng/Language Arts Numerator	90	134									
Eng/Language Arts Denominator	134	134									
Eng/Language Arts Percent	67.2%	100.0%	67.2%						67.2	0.5	33.582
							Total F	erforman	ce Points:	1	79.478
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	8800	3100				5					
Math Number of Students	95	32				7					
Math Average Points	92.6	96.9	94.8			71.4%		71.4	93.5	0.5	46.767
Eng/Language Arts Total Points	6950	2650				13					
Eng/Language Arts # Students	95	32				15					
Eng/Language Arts Avg Points	73.2	82.8	78.0			86.7%		86.7	72.3	0.5	36.141
							Т	otal Grow	th Points:	1	82.909
Multiple Measure	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				140		88					
CCR Denominator				145		120					
CCR Percent				96.6%	96.6%	73.3%		100.0	96.6	0.5	48.276
Number of Graduates						120	5-yr: 92.4%				
Number of Cohort Students						126	4-yr: 92.4%				
Graduation Percent						95.2%	0	100.0	100.0	0.5	50
							Total Multi	ple Measu	re Points:	1	98.276
Overall											
	Gr 3-8	Gr 9-12								_	Grade
Enrollment Count	•	582								nce: 79.478	-
Enrollment Ratio	0.0%	100.0%								vth: 82.909	
								Multi	pie Measu	res: 98.276	Α

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	302	420									
Math Denominator	420	420									
Math Percent	71.9%	100.0%	71.9%						71.9	0.5	35.952
Eng/Language Arts Numerator	306	420									
Eng/Language Arts Denominator	420	420									
Eng/Language Arts Percent	72.9%	100.0%	72.9%						72.9	0.5	36.429
·			-				Total P	erforman	ce Points:	1	72.381
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	21900	6150				20					
Math Number of Students	273	91				45					
Math Average Points	80.2	67.6	73.9			44.4%		44.4	70.7	0.5	35.33
Eng/Language Arts Total Points	21400	6900				40					
Eng/Language Arts # Students	273	91				53					
Eng/Language Arts Avg Points	78.4	75.8	77.1			75.5%		75.5	70.4	0.5	35.178
							Ţ	otal Grow	th Points:	1	70.508
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				440		111					
CCR Denominator				443		283					
CCR Percent				99.3%	99.3%	39.2%		100.0	99.3	0.5	49.661
Number of Graduates						283	5-yr: 85.4%				
Number of Cohort Students						349	4-yr: 84.6%				
Graduation Percent						81.1%	0.8	81.9	81.9	0.5	40.944
							Total Multip	ole Measu	re Points:	1	90.606
Overall											
	Gr 3-8	Gr 9-12								Points	Grade
Enrollment Count		1800							Performa	nce: 72.381	. с
Enrollment Ratio	0.0%	100.0%								vth: 70.508	
								Multi	ple Measu	res: 90.606	А
									Overa	all: 83	В

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	78	107									
Math Denominator	107	107									
Math Percent	72.9%	100.0%	72.9%						72.9	0.5	36.449
Eng/Language Arts Numerator	66	107									
Eng/Language Arts Denominator	107	107									
Eng/Language Arts Percent	61.7%	100.0%	61.7%						61.7	0.5	30.841
•							Total F	erforman	ce Points:	1	67.29
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	5600	2200				13					
Math Number of Students	76	26				20					
Math Average Points	73.7	84.6	79.1			65.0%		65.0	76.8	0.5	38.415
Eng/Language Arts Total Points	5200	1400				21					
Eng/Language Arts # Students	76	23				25					
Eng/Language Arts Avg Points	68.4	60.9	64.6			84.0%		84.0	56.5	0.5	28.225
			,				Т	otal Grow	th Points:	1	66.64
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				105		8					
CCR Denominator				110		81					
CCR Percent				95.5%	95.5%	9.9%		39.5	37.7	0.5	18.855
Number of Graduates						81	5-yr: 69.4%				
Number of Cohort Students						132	4-yr: 68.9%				
Graduation Percent						61.4%	0.5	61.9	61.9	0.5	30.932
							Total Multi	ole Measu	re Points:	1	49.787
Overall											
	Gr 3-8	Gr 9-12								Points	Grade
Enrollment Count		555							Performa	nce: 67.29	D
Enrollment Ratio	0.0%	100.0%							Grov		D
								Multi	ple Measu	res: 49.787	F
									Overa	all: 57	F

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	58	124									
Math Denominator	124	124									
Math Percent	46.8%	100.0%	46.8%						46.8	0.5	23.387
Eng/Language Arts Numerator	27	124									
Eng/Language Arts Denominator	124	124									
Eng/Language Arts Percent	21.8%	100.0%	21.8%						21.8	0.5	10.887
·							Total F	erforman	ce Points:	1	34.274
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points						4					
Math Number of Students						4					
Math Average Points			0.0			100.0%		100.0	100.0	0.5	50
Eng/Language Arts Total Points						1					
Eng/Language Arts # Students						2					
Eng/Language Arts Avg Points			0.0			50.0%		50.0	24.0	0.5	12
'						•		otal Grow	th Points:	1	62
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				370		16					
CCR Denominator				372		56					
CCR Percent				99.5%	99.5%	28.6%		100.0	99.5	0.5	49.731
Number of Graduates						56	5-yr:18.1%				
Number of Cohort Students						318	4-yr: 11.5%				
Graduation Percent						17.6%	6.6	24.2	24.2	0.5	12.105
							Total Multi	ole Measu	re Points:	1	61.836
Overall											
	Gr 3-8	Gr 9-12									Grade
Enrollment Count		1368							Performa	nce: 34.274	F
Enrollment Ratio	0.0%	100.0%							Grov		D
								Multi	ple Measu	res: 61.836	_
									Overa	all: 55	F

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Non-Public #3

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	31	32									
Math Denominator	32	32									
Math Percent	96.9%	100.0%	96.9%						96.9	0.5	48.438
Eng/Language Arts Numerator	29	32									
Eng/Language Arts Denominator	32	32									
Eng/Language Arts Percent	90.6%	100.0%	90.6%						90.6	0.5	45.313
							Tot	al Performan	nce Points:	1	93.75
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	1150	475									
Math Number of Students	12	4									
Math Average Points	95.8	118.8	107.3					0.0	107.3	0.5	53.646
Eng/Language Arts Total Points	1225	400									
Eng/Language Arts # Students	12	4									
Eng/Language Arts Avg Points	102.1	100.0	101.0					0.0	101.0	0.5	50.521
						1		Total Grow	th Points:	1	104.17
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%			100.0	0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mi	ıltiple Meası	ıre Points:	1	0
Overall		<u> </u>									
	Gr 3-8	Gr 9-12								_	Grade
Enrollment Count	32								Performa		-
Enrollment Ratio	100.0%	0.0%								vth: 104.17	Α
								Multi	iple Measu	_	
									Overa	all: 98	Α

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Non-Public #4

		Grades 03-10		Grade :	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	29	33									
Math Denominator	32	33									
Math Percent	90.6%	100.0%	90.6%						90.6	0.5	45.31
Eng/Language Arts Numerator	28	33									
Eng/Language Arts Denominator	32	33									
Eng/Language Arts Percent	87.5%	100.0%	87.5%						87.5	0.5	43.75
•							Tot	al Performan	ice Points:	1	89.06
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	1050	250									
Math Number of Students	14	3									
Math Average Points	75.0	83.3	79.2					0.0	79.2	0.5	39.583
Eng/Language Arts Total Points	1250	325									
Eng/Language Arts # Students	14	3									
Eng/Language Arts Avg Points	89.3	108.3	98.8					0.0	98.8	0.5	49.405
						-		Total Grow	th Points:	1	88.988
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%			100.0	0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mu	ıltiple Meası	re Points:	1	0
Overall		,									
	Gr 3-8	Gr 9-12									Grade
Enrollment Count	32								Performar	-	_
Enrollment Ratio	100.0%	0.0%								vth: 88.988	В
								Multi	iple Measu	res: 0	
									Overa	ill: 89	В

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Non-Public #5

		Grades 03-10		Grade 1	1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	254	276									
Math Denominator	297	276									
Math Percent	85.5%	100.0%	85.5%						85.5	0.5	42.762
Eng/Language Arts Numerator	264	275									
Eng/Language Arts Denominator	296	275									
Eng/Language Arts Percent	89.2%	100.0%	89.2%						89.2	0.5	44.595
							Total F	Performan	ce Points:	1	87.356
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	11850	3025									
Math Number of Students	159	54									
Math Average Points	74.5	56.0	65.3					0.0	65.3	0.5	32.637
Eng/Language Arts Total Points	11625	3500				2					
Eng/Language Arts # Students	158	54				2					
Eng/Language Arts Avg Points	73.6	64.8	69.2			100.0%		100.0	68.8	0.5	34.386
•							т	otal Grow	th Points:	1	67.023
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator				53		42					
CCR Denominator				54		45					
CCR Percent				98.1%	98.1%	93.3%		100.0	98.1	0.5	49.074
Number of Graduates						45	5-yr: 100%				
Number of Cohort Students						47	4-yr: 100%				
Graduation Percent						95.7%	0	100.0	100.0	0.5	50
							Total Multi	ple Measu	re Points:	1	99.074
Overall		1 001-									
	Gr 3-8	Gr 9-12							Danie	Points	
Enrollment Count	271	172								nce: 87.356	В
Enrollment Ratio	61.2%	38.8%						. ۱ . ۱ م		vth: 67.023	D
								iviuiti		res: 99.074	A
									Overa 2014	nll: 84 C	B 2.99

2014 C 2.99 Gr 3-8 2.5 C Gr 9-12 3.75 A

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Non-Public #1

		Grades 03-10		Grade 1	l1		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	77	118									
Math Denominator	120	119									
Math Percent	64.2%	99.2%	64.2%						64.2	0.5	32.08
Eng/Language Arts Numerator	65	117									
Eng/Language Arts Denominator	119	118									
Eng/Language Arts Percent	54.6%	99.2%	54.6%						54.6	0.5	27.31
							Tota	al Performan	ce Points:	1	59.39
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	5400	1475									
Math Number of Students	67	22									
Math Average Points	80.6	67.0	73.8					0.0	73.8	0.5	36.91
Eng/Language Arts Total Points	5625	1250									
Eng/Language Arts # Students	66	22									
Eng/Language Arts Avg Points	85.2	56.8	71.0					0.0	71.0	0.5	35.51
								Total Grow	rth Points:	1	72.42
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%			100.0	0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent							Total Nav	0.0 Itiple Measu	0.0	0.5 1	0
Overall							Total Mu	itipie ivieasu	re Points:	1	0
Overall	Gr 3-8	Gr 9-12								Points	Grade
Enrollment Count	133								Performa		F
Enrollment Ratio	100.0%	0.0%							Grov		С
Emoninent natio	_30.3/0	2.2,3						Multi	ple Measu		
									Overa		D

2015-16 SAMPLE Indiana Student-Centered Accountability System Sample Non-Public #2

		Grades 03-10		Grade 1	11		Grade 12			Overall	
Performance											
	Pass Rate	Participation Rate	Points						Points	Weight	Final Points
Math Numerator	7	36									
Math Denominator	36	36									
Math Percent	19.4%	100.0%	19.4%						19.4	0.5	9.722
Eng/Language Arts Numerator	10	36									
Eng/Language Arts Denominator	36	36									
Eng/Language Arts Percent	27.8%	100.0%	27.8%						27.8	0.5	13.889
							Tot	al Performan	ce Points:	1	23.61
Growth											
	Top 75% Observed Growth	Bottom 25% Observed Growth Points	Points			Improveme	nt	Points	Points	Weight	Final Points
Math Total Points	575	225									
Math Number of Students	19	7									
Math Average Points	30.3	32.1	31.2					0.0	31.2	0.5	15.602
Eng/Language Arts Total Points	875	400									
Eng/Language Arts # Students	19	7									
Eng/Language Arts Avg Points	46.1	57.1	51.6					0.0	51.6	0.5	25.799
						=		Total Grow	th Points:	1	41.4
Multiple Measure											
	Pass Rate	Participation Rate	Points	Participation Rate	Weight	Graduation Rate	5 - Year Graduation From Prior	Points	Points	Weight	Final Points
CCR Numerator											
CCR Denominator											
CCR Percent					0.0%			100.0	0.0	0.5	0
Number of Graduates							5-yr: %				
Number of Cohort Students							4-yr: %				
Graduation Percent								0.0	0.0	0.5	0
							Total Mu	ıltiple Meası	ıre Points:	1	0
Overall											
	Gr 3-8	Gr 9-12								Points	Grade
Enrollment Count	37								Performar	nce: 23.611	F
Enrollment Ratio	Enrollment Ratio 100.0% 0.0% Growth: 41.4				F						
								Mult	iple Measu	res: 0	
									Overa	ill: 31	F

Summary of Sample Schools for A-F Calculation

For schools to calculate their A-F scores, they need a tool that is easy to use. Such a tool could be provided in the form of the attached spreadsheets. The spreadsheets have two useful features: (1) they are tabulated to allow side-by side comparisons of the data influencing a schools' final grade, and (2) they are electronic, which offers two conveniences: the formula for calculating a letter grade is embedded in the spreadsheet, and the spreadsheet can be posted on line or downloaded for use.

The side-to-side tabulation permits a school top see on one page and at a glance its component scores by grade, and by performance, growth, and multiple measures, along with the school's overall score. The spreadsheet's electronic format, by doing the calculation for the school, reduces the time and effort a school must spend calculating its grade. The school need only enter its data, and the spreadsheet will do the rest.

The following explains the Sample Schools used to illustrate how both the spreadsheets and accountability scoring would work in practice.

The Sample Schools represent a randomly selected set of schools for each of the letter grades A-F for each of the following types of schools: Combined, Elementary/Middle, High School, Charter, and Non-Public. The original grade awarded for each school is found at the bottom of each page, but the summary is included below.

Upon reviewing the results you will see that some schools did have a change in grade. It should be noted that for the high schools, since growth data is not available, the estimates used are likely not very accurate, and the scores represented should be considered with caution. On the other hand, while the estimates for the other schools should also be considered with caution, the ability to apply the "Observed Growth Chart" presented to the SBOE was possible, thus this provides a much cleaner estimate.

It should be noted, that the biggest difference found when computing the scores using the new model verses the old is the ability to include growth for each student. In the former model growth was calculated, but only if "enough students" had high growth or low growth did the bonus points get awarded or deducted. In this new model, each student that has growth calculated is included in the overall sum. This is what causes some of the shifting in scores. It should also be noted, that the former model allowed for a particular subject to be awarded points beyond the cap of 4 points. This allowed for a school with high performance in one subject, with high growth to receive a higher overall score. This new model removes such big swings and thus you will see a few schools with slightly lower scores.

Summary of Sample Schools

S	Sample Elementary/Middle Schools				
	2014 Grade	New A-F Estimate			
1	3.87 pts A	88% B			
2	3.3 pts B	81% B			
3	2.5 pts C	78% C			
4	1.8 pts D	76% C			
5	0 pts F	59% F			

	Sample High Schools				
	2014 Grade	New A-F Estimate			
1	4 pts A	98% A			
2	3.4 pts B	91% A			
3	2.6 pts C	83% B			
4	1.6 pts D	57% F			
5	0.8 pts F	55% F			

	Sample Combined Schools				
	2014 Grade	New A-F Estimate			
1	3.7 pts A	89% B			
2	3.5 pts B	85% B			
3	1.8 pts D	68% D			
4	2.3 pts C	75% C			
5	0.2 pts F	30% F			

Sample Charter Schools				
	2014 Grade	New A-F Estimate		
1	4 pts A	100% A		
2	3.5 pts B	95% A		
3	2.3 Pts C	70% C		
4	1.7 pts D	73% C		
5	0.8 pts F	68% D		

	Sample Non-Public Schools				
	2014 Grade	New A-F Estimate			
1	4 pts A	98% A			
2	3.3% B	89% B			
3	3 pts C	84% B			
4	1 pt D	65% D			
5	0 pts F	31% F			